Year 5 - Autumn Term Number Facts

Test 1

15 + 15 =	50 ÷ 5 =	40 + = 100	40 x 7 =	24 ÷ = 4
4530 - 1000=	20 += 100	50 = 25 +	1357 – 100 =	20 x 9 =
9 x= 99	= 28 + 120	8 x = 64	438 += 459	+ 600 = 1000
$= 3 \times 8$	450+ = 3450	6 x 5 =	846 – 141 =	÷ 3 = 4

	Score
Multiplication Facts 🇙	
Division Facts \triangle	
Doubles 🔘	
Number bonds to 10, 20, 100 and 1000 🚫	
Adding and subtracting 10, 100 and 1000	
Addition and subtraction 2 and 3 digit numbers	
Time	•

Test 2

47 + 47 =	100 ÷ 2 =	25 + = 100	50 x 5 =	36 ÷ 6 =
3250 - 1000 =	750 + = 1000	80 = 40 +	1450 - 100 =	17 x 3 =
8 x 64	= 32 + 115	4 x 7 =	325 + = 384	+ 250 = 1000
= 4 x 5	350 + = 2350	5 x 6 =	752 – 121 =	÷7 = 5

	Score
Multiplication Facts 🏡	
Division Facts \triangle	
Doubles O	
Number bonds to 10, 20, 100 and 1000 🕥	
Adding and subtracting 10, 100 and 1000	
Addition and subtraction 2 and 3 digit numbers	
Time	

Test 3

17 + 17 =	88 ÷ 2 =	250 + = 1000	7 x 9 =	88 ÷ =22
6520 - 10 =	100 = 30	66 = 33 +	2323 - 10 =	13 x 6 =
6 x = 66	= 32 + 144	8 x = 91	762 + = 779	+ 350 = 1000
= 4 x 7	400 + = 1400	3 x 8 =	984 – 374 =	÷ 4 = 9

	Score
Multiplication Facts 🇙	
Division Facts \triangle	
Doubles	
Number bonds to 10, 20, 100 and 1000 🕥	
Adding and subtracting 10, 100 and 1000	
Addition and subtraction 2 and 3 digit numbers	
Time	

Test 4

22 + 22 =	0	68 ÷ 4 =	8 + = 10) 11 × 5 =	120 ÷ 4 =
7745 – 1000=	\Diamond	1000 –= 55	68 = 34 +	6543 – 10 =	12 x 8 =
4 x 4 =	\Rightarrow	= 28 + 147	$9 \times 7 = $	443 +=559	+ 470 = 1000
= 7 x 3	\Rightarrow	1224 +=2224	3 x 6 =	832 – 651 =	÷ 6 = 7

	Score
Multiplication Facts 🇙	
Division Facts \triangle	
Doubles	
Number bonds to 10, 20, 100 and 1000 🕥	
Adding and subtracting 10, 100 and 1000	
Addition and subtraction 2 and 3 digit numbers	
Time	•

Test 5

27 + 27 =	0	72 ÷ 4 =	18 + = 20	16 x 4 =	64 ÷ 8 =
6784 – 1000 =	\Diamond	100 – 35 =	44 = 22 +	1549 – 100 =	16 x 5 =
7 x= 49	\Rightarrow	334 + 453 =	4 x= 48	554 += 678	+ 400 = 1000
= 5 x 7	\Rightarrow	330 += 1330	7 x 6 =	995 – 334 =	÷3 = 33

	Score
Multiplication Facts 🇙	
Division Facts \triangle	
Doubles	
Number bonds to 10, 20, 100 and 1000 🕥	
Adding and subtracting 10, 100 and 1000	
Addition and subtraction 2 and 3 digit numbers	
Time	•

Test 6

72 + 72 =	52 ÷ 2 =	83 + _	=1000 \times 13 x \;	5 =	48 ÷ 4 =
7766 – 100 =	1000 – 771	=	= 176 6546	− 1000 =	21 x 3 =
9 x 7 =	27 + 445 =	5 x 18	= 665 +	=777	+200 =1000 ^{\(\)}
= 3 x 12	4545 +	_=5545 7 x 8 =	996 -	911 =	÷ 6 = 8

	Score
Multiplication Facts 🏡	
Division Facts \triangle	
Doubles 🔘	
Number bonds to 10, 20, 100 and 1000 🕥	
Adding and subtracting 10, 100 and 1000	
Addition and subtraction 2 and 3 digit numbers	
Time	